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Calculus Ch 3 Quiz 2022
NOICALCULATORS (33 pts)
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1. Use the Intermediate Value Theorem to prove that f(x) = x°> — x — 2 has a solution in the x-interval
[0, 2]. (4 pts)
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2, Use some combination of §, €, D, and E to prove: lim 2;%—;)= 3. Include a graph in your proof. (5 pts)
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3. Given the function y = x2 — 8x — 7, 2 ey =

a) Use the definition of derivative at a point to calculate the derivative at x = 2. Make sure you use
proper limit notation throughout. (3 pts)
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c) Find the equation of the line tangent to y and parallel to 2x + y = 4. (3 pts)
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O Use the formal definition of the derivative to find the derivative of the function y = —1— Use proper

limit notation throughout. (3 pts) ( S5k Ghs 37 (Socr2 )
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5. Find the value(s) of a and b that will make the function continuous. (4pts)
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6. Given that limw=1 and lim cosx— =0, use the formal definition of the derivative to find
-0 x x—-0 X
i(cos x). (4 pts)
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7. f(x) is given below. On the same graph, accurately sketch f /(x). Note: there is a cusp at x=0. (5 pts) \
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